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8. Assume that both portfolios A and B are well-diversified.
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Portfolio Expected Standard Deviation Beta
Return of Return

A 13% 7% 0.80

B 17% 10% 1.20

The standard deviation of market return is 0.05.

(—) Use the CAPM model to infer the market risk premium and the risk-free rate.(5%)

(=) Assume that the covariance between returns on portfolio A and B is 0.007,
compute the standard deviation of an equally weighted portfolio consisting of
portfolio A and portfolio B. (5%)

(=) What is the correlation coefficient between portfolio A and the market, pam» What
is the correlation coefficient between portfolio B and the market, pgm? (5%)

(P9) If a portfolio manager wants to construct a zero-beta portfolio consisting of
portfolios A and B, what are the investment proportions in portfolio A and portfolio

B? (5%)

9. ABC Corp. has an ROE of 20% and a plowback ratio of 60%. The coming year's EPS is
expected to be $4 per share. The firm's market capitalization rate is 16%.

(—)What is the P/E ratio? (6%)
(Z2)What is the present value of growth opportunities (PVGO)? (6%)
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